Home Work # 5                                                                                                    SCI 1300 

Name:_____________________________                                     


This assignment requires the use of Microsoft Excel, installed on all computers at UTEP computer labs.

The US Census Bureau has measured the percentage of the rural population among the total population of the United States since 1790. (I have included data only up to 1960, since the way “rural population” is defined, was changed in 1960.) 

	x (Year)
	y (Percent)
	
	x (Year)
	y (Percent)

	1790
	94.9
	
	1880
	71.8

	1800
	93.9
	
	1890
	64.9

	1810
	92.7
	
	1900
	60.4

	1820
	92.8
	
	1910
	54.4

	1830
	91.2
	
	1920
	48.8

	1840
	89.2
	
	1930
	43.9

	1850
	84.6
	
	1940
	43.5

	1860
	80.2
	
	1950
	40.4

	1870
	74.3
	
	1960
	36.9


(1) Use Excel to graph the data.

(2) Use Excel to compute an equation of the regression line:

Attach a printout of your computations!

(3) Use Excel to include the regression line into the graph of the data obtained in (1). Attach a printout! 

(4) By definition of the Census Bureau, population is either “urban” or “rural”. For instance, in 1820 92.8% of the population was “rural”, so the rest of 7.2% was “urban”. Compute an equation for the regression line of the urban population as a percentage of the total US population:

Hint: Can you obtain the equation directly from the equation for the rural population? 
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